

Solving 3D Helmholtz Equation Using Triple Laplace-Aboodh-Sumudu Transform

Mona Hunaiber

Department of Mathematics, Faculty of Education and Sciences, Albaydha University, Yemen.

E-mail: hunaiber2021@gmail.com

Abstract

This paper introduces a novel integral transform, termed the triple Laplace-Aboodh-Sumudu transform (TLAST), by combining the Laplace transform, Aboodh transform, and Sumudu transform. The primary objective of this research is to utilize TLAST for solving the Helmholtz equation in three dimensions. The TLAST provides a powerful tool for transforming complex partial differential equations into algebraic equations, simplifying their solution. The paper presents the mathematical formulation of TLAST and demonstrates its application in solving the Helmholtz equation. By employing TLAST, the solution to the Helmholtz equation is obtained efficiently, highlighting the potential of this new integral transform in addressing various problems in science, engineering, and other fields.

Keywords: Triple Laplace-Aboodh-Sumudu transform, Helmholtz equation, Integral transform, Laplace transform, Aboodh transform, Sumudu transform.

1. Introduction

The origin of the integral transforms can be traced back to the work of P. S. Laplace in 1780s and Joseph Fourier in 1822 [10]. One of the most significant applications of the integral transforms is capability to be used in solving initial boundary problems [7,9].

In the literature, numerous different transforms are presented and applied to solve ordinary and partial differential equations such as Laplace transform, Sumudu transform, Aboodh transform, nature transform, Hunaiber transform, Shehu transform and so on, see [1,3,4,8,10,11]. Integral transform has played an important role in solving differential ordinary and partial equations and integral equations,

$$L_x A_y S_t[u(x, y, t)] = U(\rho, q, r) = \frac{1}{qr} \int_0^\infty \int_0^\infty \int_0^\infty e^{-(\rho x + qy + \frac{t}{r})} u(x, y, t) dx dy dt. \quad (1)$$

Provided the integral exists.

The inverse triple Laplace-Aboodh-Sumudu transform is defined by

$$L_x^{-1} A_y^{-1} S_t^{-1}[U(\rho, q, r)] = u(x, y, t) \\ = \frac{1}{(2\pi i)^3} \int_{\kappa-i\infty}^{\kappa+i\infty} e^{\rho x} \left\{ \int_{\lambda-i\infty}^{\lambda+i\infty} q e^{qy} \left\{ \int_{\omega-i\infty}^{\omega+i\infty} \frac{1}{r} e^{\frac{t}{r}} U(\rho, q, r) dr \right\} dq \right\} d\rho, \quad (2)$$

where κ, λ and ω are real constants [2].

1.2 Theorem. Let $U(\rho, q, r)$ be the triple Laplace-Aboodh-Sumudu transform of the continuous function $u(x, y, t)$, then

$$(1). L_x A_y S_t \left[\frac{\partial u(x, y, t)}{\partial x} \right] = \rho U(\rho, q, r) - A_y S_t[u(0, y, t)].$$

Proof:

$$L_x A_y S_t \left[\frac{\partial u(x, y, t)}{\partial x} \right] = \frac{1}{qr} \int_0^\infty \int_0^\infty \int_0^\infty e^{-(\rho x + qy + \frac{t}{r})} \frac{\partial u(x, y, t)}{\partial x} dx dy dt \\ = \frac{1}{qr} \int_0^\infty e^{-qy} dy \int_0^\infty e^{-\frac{t}{r}} dt \left\{ \int_0^\infty e^{-\rho x} u_x(x, y, t) dx \right\}.$$

Using integration by parts, let $\xi = e^{-\rho x}$, $d\eta = u_x(x, y, t) dx$, then we obtain

$$L_x A_y S_t \left[\frac{\partial u(x, y, t)}{\partial x} \right] = \frac{1}{qr} \int_0^\infty e^{-qy} dy \int_0^\infty e^{-\frac{t}{r}} dt \left\{ -u(0, y, t) + \rho \int_0^\infty e^{-\rho x} u(x, y, t) dx \right\} \\ = \rho U(\rho, q, r) - A_y S_t[u(0, y, t)].$$

$$(2). L_x A_y S_t \left[\frac{\partial u(x, y, t)}{\partial y} \right] = q U(\rho, q, r) - \frac{1}{q} L_x S_t[u(x, 0, t)]$$

$$(3). L_x A_y S_t \left[\frac{\partial u(x, y, t)}{\partial t} \right] = \frac{1}{r} [U(\rho, q, r) - L_x A_y[u(x, y, 0)]]$$

through transform these equations to algebraic equations [5].

In 2022, the authors in [2] introduced a new triple integral transform called triple Laplace-Aboodh-Sumudu transform and applied it to solve the heat equation, wave equation, Laplace equation and Poisson equation.

The aim of this work is to solve the Helmholtz equation with initial and boundary conditions by triple Laplace-Aboodh-Sumudu transform.

1.1 Definition. Let u be a continuous function of three variables say $x, y, t > 0$; then, the triple Laplace-Aboodh-Sumudu transform of $u(x, y, t)$ is denoted by the operator $L_x A_y S_t[u(x, y, t)] = U(\rho, q, r)$ and defined by

$$(4). L_x A_y S_t \left[\frac{\partial^2 u(x, y, t)}{\partial x^2} \right] = \rho^2 U(\rho, q, r) - \rho A_y S_t [u(0, y, t)] - A_y S_t [u_x(0, y, t)].$$

$$(5). L_x A_y S_t \left[\frac{\partial^2 u(x, y, t)}{\partial y^2} \right] = q^2 U(\rho, q, r) - L_x S_t [u(x, 0, t)] - \frac{1}{q} L_x S_t [u_y(x, 0, t)].$$

$$(6). L_x A_y S_t \left[\frac{\partial^2 u(x, y, t)}{\partial t^2} \right] = \frac{1}{r^2} U(\rho, q, r) - \frac{1}{r^2} L_x A_y [u(x, y, 0)] - \frac{1}{r} L_x A_y [u_t(x, y, 0)].$$

$$(7). L_x A_y S_t \left[\frac{\partial^2 u(x, y, t)}{\partial x \partial y} \right] = \rho q U(\rho, q, r) - \frac{\rho}{q} L_x S_t [u(x, 0, t)] - A_y S_t [u_y(0, y, t)].$$

$$(8). L_x A_y S_t \left[\frac{\partial^2 u(x, y, t)}{\partial x \partial t} \right] = \frac{\rho}{r} U(\rho, q, r) - \frac{\rho}{r} L_x A_y [u(x, y, 0)] - A_y S_t [u_t(0, y, t)].$$

$$(9). L_x A_y S_t \left[\frac{\partial^2 u(x, y, t)}{\partial y \partial t} \right] = \frac{q}{r} U(\rho, q, r) - \frac{q}{r} L_x A_y [u(x, y, 0)] - \frac{1}{q} L_x S_t [u_t(x, 0, t)].$$

By the same proof (1), we can prove (2)-(9) [2].

2. Triple Laplace-Aboodh-Sumudu Transform of Some Basic Functions

$$(1). L_x A_y S_t [1] = \frac{1}{qr} \int_0^\infty \int_0^\infty \int_0^\infty e^{-(\rho x + qy + \frac{t}{r})} dx dy dt = \frac{1}{\rho q^2}.$$

$$(2). L_x A_y S_t [xyt] = \frac{1}{qr} \int_0^\infty \int_0^\infty \int_0^\infty e^{-(\rho x + qy + \frac{t}{r})} xyt dx dy dt = \frac{r}{\rho^2 q^3}.$$

$$(3). L_x A_y S_t [x^n y^m t^k] = \frac{1}{qr} \int_0^\infty \int_0^\infty \int_0^\infty e^{-(\rho x + qy + \frac{t}{r})} x^n y^m t^k dx dy dt = \frac{n!}{\rho^{n+1}} \frac{m!}{q^{m+2}} k! r^k,$$

where $n, m, k = 0, 1, 2, \dots$

$$(4). L_x A_y S_t [x^\alpha y^\beta t^\lambda] = \frac{1}{qr} \int_0^\infty \int_0^\infty \int_0^\infty e^{-(\rho x + qy + \frac{t}{r})} x^\alpha y^\beta t^\lambda dx dy dt = \frac{\Gamma(\alpha + 1) \Gamma(\beta + 1)}{\rho^{\alpha+1} q^{\beta+2}} \Gamma(\lambda + 1) r^\lambda,$$

where $n, m, k \geq -1$.

$$(5). L_x A_y S_t [e^{(\alpha x + \beta y + \lambda t)}] = \frac{1}{qr} \int_0^\infty \int_0^\infty \int_0^\infty e^{-(\rho x + qy + \frac{t}{r})} e^{(\alpha x + \beta y + \lambda t)} dx dy dt = \frac{1}{q(\rho - \alpha)(q - \beta)(r - \lambda r)}.$$

$$(6). L_x A_y S_t [\sin(\alpha x + \beta y + \lambda t)] = \frac{1}{qr} \int_0^\infty \int_0^\infty \int_0^\infty e^{-(\rho x + qy + \frac{t}{r})} \sin(\alpha x + \beta y + \lambda t) dx dy dt = \frac{\lambda \rho q r + \beta \rho + \alpha q - \alpha \beta \lambda r}{q(\rho^2 + \alpha^2)(q^2 + \beta^2)(1 + \lambda^2 r^2)}.$$

$$(7). L_x A_y S_t [\cos(\alpha x + \beta y + \lambda t)] = \frac{1}{qr} \int_0^\infty \int_0^\infty \int_0^\infty e^{-(\rho x + qy + \frac{t}{r})} \cos(\alpha x + \beta y + \lambda t) dx dy dt = \frac{\rho q - \beta \lambda \rho r - \alpha \lambda q r - \alpha \beta}{q(\rho^2 + \alpha^2)(q^2 + \beta^2)(1 + \lambda^2 r^2)}.$$

$$(8). L_x A_y S_t [\sinh(\alpha x + \beta y + \lambda t)] = \frac{1}{qr} \int_0^\infty \int_0^\infty \int_0^\infty e^{-(\rho x + qy + \frac{t}{r})} \sinh(\alpha x + \beta y + \lambda t) dx dy dt = \frac{\beta \rho + \alpha q + \lambda \rho q r + \alpha \beta \lambda r}{q(\rho^2 - \alpha^2)(q^2 - \beta^2)(1 - \lambda^2 r^2)}.$$

$$(9). L_x A_y S_t [\cosh(\alpha x + \beta y + \lambda t)] = \frac{1}{qr} \int_0^\infty \int_0^\infty \int_0^\infty e^{-(\rho x + qy + \frac{t}{r})} \cosh(\alpha x + \beta y + \lambda t) dx dy dt$$

$$= \frac{\rho q + \alpha \beta + \beta \lambda p r + \alpha \lambda q r}{q(\rho^2 - \alpha^2)(q^2 - \beta^2)(1 - \lambda^2 r^2)}.$$

3. Application of The Triple Laplace-Aboodh-Sumudu Transform for The Helmholtz Equation

In this section, we applying the triple Laplace-Aboodh-Sumudu transform to solve the Helmholtz equation. The Helmholtz equation is the basic partial differential equation of acoustics [6]. Let the nonhomogeneous Helmholtz equation in three independent variables (x, y, t) be in the form

$$u_{xx}(x, y, t) + u_{yy}(x, y, t) + u_{tt}(x, y, t) + u(x, y, t) = g(x, y, t), \quad (3)$$

with the initial and boundary conditions

$$u(0, y, t) = h_1(y, t), \quad u_x(0, y, t) = h_2(y, t), \quad (4)$$

$$u(x, 0, t) = h_3(x, t), \quad u_y(x, 0, t) = h_4(x, t), \quad (5)$$

$$u(x, y, 0) = h_5(x, y), \quad u_t(x, y, 0) = h_6(x, y), \quad (6)$$

where $g(x, y, t)$ is the source term.

Using

the property of partial derivative of triple Laplace-Aboodh-Sumudu transform for Eq.(3), double Aboodh-Sumudu transform for Eq.(4), double Laplace-Sumudu transform for Eq.(5) and double Laplace-Aboodh transform for Eq.(6), then

$$\rho^2 U(\rho, q, r) - \rho A_y S_t \{h_1(y, t)\} - A_y S_t \{h_2(y, t)\} + q^2 U(\rho, q, r) - L_x S_t \{h_3(x, t)\} - \frac{1}{q} L_x S_t \{h_4(x, t)\}$$

$$+ \frac{1}{r^2} U(\rho, q, r) - \frac{1}{r^2} L_x A_y \{h_5(x, y)\} - \frac{1}{r} L_x A_y \{h_6(x, y)\} + U(\rho, q, r) = G(\rho, q, r).$$

By simplifying, we get

$$U(\rho, q, r) = \frac{1}{\rho^2 + q^2 + \frac{1}{r^2} + 1} \left[\rho h_1(q, r) + h_2(q, r) + h_3(\rho, r) + \frac{1}{q} h_4(\rho, r) + \frac{1}{r^2} h_5(\rho, q) + \frac{1}{r} h_6(\rho, q) + G(\rho, q, r) \right], \quad (7)$$

where $L_x A_y S_t [g(x, y, t)] = G(\rho, q, r)$.

Solving this algebraic equation in $U(\rho, q, r)$ and taking the inverse triple Laplace-Aboodh-Sumudu transform on both sides of Eq.(7), yields

$$u(x, y, t) = L_x^{-1} A_y^{-1} S_t^{-1} \left\{ \frac{1}{\rho^2 + q^2 + \frac{1}{r^2} + 1} \left[\rho h_1(q, r) + h_2(q, r) + h_3(\rho, r) + \frac{1}{q} h_4(\rho, r) + \frac{1}{r^2} h_5(\rho, q) + \frac{1}{r} h_6(\rho, q) + G(\rho, q, r) \right] \right\}, \quad (8)$$

which represent the general formula for the solution of Eq.(3) by triple Laplace-Aboodh-Sumudu transform method.

Example 3.1. Consider the following Helmholtz equation

$$u_{xx}(x, y, t) + u_{yy}(x, y, t) + u_{tt}(x, y, t) = 7e^{2x-y+t} - u(x, y, t), \quad (9)$$

with the initial and boundary conditions

$$u(0, y, t) = e^{-y+t}, \quad u_x(0, y, t) = 2e^{-y+t}, \quad (10)$$

$$u(x, 0, t) = e^{2x+t}, \quad u_y(x, 0, t) = -e^{2x+t}, \quad (11)$$

$$u(x, y, 0) = e^{2x-y}, \quad u_t(x, y, 0) = e^{2x-y}. \quad (12)$$

Solution:

Substituting

$$h_1(q, r) = \frac{1}{q(q+1)(1-r)}, \quad h_2(q, r) = \frac{2}{q(q+1)(1-r)},$$

$$\begin{aligned}\hbar_3(\rho, r) &= \frac{1}{(\rho - 2)(1 - r)}, & \hbar_4(\rho, r) &= \frac{-1}{(\rho - 2)(1 - r)}, \\ \hbar_5(\rho, q) &= \frac{1}{q(\rho - 2)(q + 1)}, & \hbar_6(\rho, q) &= \frac{1}{q(\rho - 2)(q + 1)}, \\ G(\rho, q, r) &= \frac{7}{q(\rho - 2)(q + 1)(1 - r)}.\end{aligned}$$

in Eq.(7), we obtain

$$\begin{aligned}U(\rho, q, r) &= \frac{1}{\rho^2 + q^2 + \frac{1}{r^2} + 1} \left[\frac{\rho}{q(q + 1)(1 - r)} + \frac{2}{q(q + 1)(1 - r)} + \frac{1}{(\rho - 2)(1 - r)} \right. \\ &\quad - \frac{1}{q(\rho - 2)(1 - r)} + \frac{1}{qr^2(\rho - 2)(q + 1)} + \frac{1}{qr(\rho - 2)(q + 1)} \\ &\quad \left. + \frac{7}{q(\rho - 2)(q + 1)(1 - r)} \right] \\ &= \frac{r^2}{\rho^2 r^2 + q^2 r^2 + r^2 + 1} \left[\frac{\rho^2 r^2 + q^2 r^2 + r^2 + 1}{qr^2(\rho - 2)(q + 1)(1 - r)} \right].\end{aligned}$$

By simplifying, we obtain

$$U(\rho, q, r) = \frac{1}{q(\rho - 2)(q + 1)(1 - r)}. \quad (13)$$

Taking the inverse triple Laplace-Abodh-Sumudu transform of Eq.(13), we get a solution of Eq.(9)

$$u(x, y, t) = e^{2x-y+t}. \quad (14)$$

Example 3.2. Consider the following Helmholtz equation

$$u_{xx}(x, y, t) + u_{yy}(x, y, t) + u_{tt}(x, y, t) + u(x, y, t) = 0, \quad (15)$$

with the initial and boundary conditions

$$u(0, y, t) = e^{-t} \sin y, \quad u_x(0, y, t) = e^{-t} \cos y, \quad (16)$$

$$u(x, 0, t) = e^{-t} \sin x, \quad u_y(x, 0, t) = e^{-t} \cos x, \quad (17)$$

$$u(x, y, 0) = \sin(x + y), \quad u_t(x, y, 0) = \cos(x + y). \quad (18)$$

Solution:

Substituting

$$\begin{aligned}\hbar_1(q, r) &= \frac{1}{q(q^2 + 1)(1 + r)}, & \hbar_2(q, r) &= \frac{1}{(q^2 + 1)(1 + r)}, \\ \hbar_3(\rho, r) &= \frac{1}{(\rho^2 + 1)(1 + r)}, & \hbar_4(\rho, r) &= \frac{\rho}{(\rho^2 + 1)(1 + r)}, \\ \hbar_5(\rho, q) &= \frac{\rho + q}{q(\rho^2 + 1)(q^2 + 1)}, & \hbar_6(\rho, q) &= -\frac{\rho + q}{q(\rho^2 + 1)(q^2 + 1)},\end{aligned}$$

in Eq.(7), we obtain

$$\begin{aligned}U(\rho, q, r) &= \frac{1}{\rho^2 + q^2 + \frac{1}{r^2} + 1} \left[\frac{\rho}{q(q^2 + 1)(1 + r)} + \frac{1}{(q^2 + 1)(1 + r)} + \frac{1}{(\rho^2 + 1)(1 + r)} \right. \\ &\quad \left. + \frac{\rho}{q(\rho^2 + 1)(1 + r)} + \frac{\rho + q}{qr^2(\rho^2 + 1)(q^2 + 1)} - \frac{\rho + q}{qr(\rho^2 + 1)(q^2 + 1)} \right]\end{aligned}$$

$$= \frac{r^2}{\rho^2 r^2 + q^2 r^2 + r^2 + 1} \left[\frac{\rho^3 r^2 + \rho^2 q r^2 + q^3 r^2 + q r^2 + \rho q^2 r^2 + \rho r^2 + \rho + q}{q r^2 (\rho^2 + 1)(q^2 + 1)(1 + r)} \right].$$

By simplifying, we get

$$U(\rho, q, r) = \frac{1}{\rho^2 r^2 + q^2 r^2 + r^2 + 1} \left[\frac{(\rho + q)(\rho^2 r^2 + q^2 r^2 + r^2 + 1)}{q(\rho^2 + 1)(q^2 + 1)(1 + r)} \right]$$

$$= \frac{\rho + q}{q(\rho^2 + 1)(q^2 + 1)(1 + r)} \quad (19)$$

Taking the inverse triple Laplace-Aboodh-Sumudu transform of Eq.(19), we get a solution of Eq.(15)

$$u(x, y, t) = e^{-t} \sin(x + y). \quad (20)$$

Conclusion

In Conclusion, the triple Laplace-Aboodh-Sumudu transform is a significant transform among all the integral transforms of exponential sort kernels. The Helmholtz equation solved simply and easily by this triple transform. We will apply the triple Laplace-Aboodh-Sumudu transform to more partial differential equations and integral equations in future studies.

References

- [1] K. Aboodh, *The new integral transform "Aboodh transform"*, Global Journal of Pure and Applied Mathematics, 9(1)(2013) 35-43.
- [2] A. Al-Aati, M. Hunaiber and Y. Ouideen, *On triple Laplace-Aboodh-Sumudu transform and its properties with applications*, Journal of Applied Mathematics and Computation, 6(3) (2022) 290-309.
- [3] F. Belgacem and R. Silmabarasan, *Theory of natural transform*, Mathematics in Engineering, Science and Aerospace, 3(1)(2012) 105-135.
- [4] H. Eltayeb and A. Kılıçman, *A note on the Sumudu transforms and differential equations*, Applied Mathematics Sciences, 4(22)(2010) 1089-1098.
- [5] T. Elzaki and A. Ishag, *Solution of telegraph equation by Elzaki-Laplace transform*, African Journal of Engineering & Technology, 2(8)(2022)1-7.
- [6] A. Gopal and L. Trefethen, *New Laplace and Helmholtz solvers*, PNAS, 116 (21)(2019) 10223-10225.
- [7] N. Gwila and A. Farhat, *GF1 integral*

- transform and its some applications*, Journal of Alasmarya University: Basic and Applied Sciences, 7(2)(2022) 84-93.
- [8] M. Hunaiber and A. Al-Aati, *Some fundamental properties of Hunaiber transform and its applications to partial differential equations*, International Journal of Mathematics and Computer Research, 10 (7)(2022) 2808-2811.
- [9] D. Kaklij, *A double new general integral transform*, International Journal of Advances in Engineering and Management, 4(3)(2022) 1249-1258.
- [10] S. Maitama and W. Zhao, *New integral transform: Shehu transform a generalization of Sumudu and Laplace transform for solving differential equations*, International Journal of Analysis and Applications, 17(2)(2019) 167-190.
- [11] D. Verma, *Applications of Laplace transformation for solving various differential equations with variable*, International Journal for Innovative Research in Science and Technology, 4(11)(2018) 124-127.